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MEC-006 

MASTER OF ARTS (Economics) 

c\1 	 Term-End Examination 

O 
00 December, 2012 
C 

MEC-006 : PUBLIC ECONOMICS 

Time : 3 hours 	 Maximum Marks : 100 

Note : Attempt questions from each section as directed. 

SECTION - A 

Attempt any two questions from this section. 

(Answer in about 500 words each) 	2x20=40 

1. Define Public Economics. Which kind of public 

intervention is not still considered a part of public 

economics and why ? 

2. Discuss how public choice is derived through 
different voting models. 

3. What is public debt and what are its main 
sources ? Discuss impacts of public debt on 
consumption and production. 

4. How does transfer of grants correct vertical 
imbalances as well as horizontal imbalances in a 
federal country and achieve fiscal equalisation ? 
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SECTION - B 

Attempt any five questions from this section. 

(Answer in about 300 words each) 	5x12=60 

	

5. 	Many factors in addition to government policies 

influence a person's choice of a location. Explain 

Tiebout hypothesis. 

	

6. 	Distinguish between merit and public goods with 

the help of examples. 

	

7. 	Explain Bowen and Black's models for the 

identification of Median Voter Preference. 

	

8. 	Analyse the difference between horizontal and 

vertical equity. In which case taxation based on 

consumption expenditure results in horizontal 

equity ? 

	

9. 	What are the main problems in international 

policy coordination ? How they are solved ? 

10. Write short notes on any two of the following : 

(a) Minimum winning coalition 

(b) Foreign Direct Investment 

(c) Theory of second best analysis 

(d) Dead weight loss in taxation. 

11. Explain the objectives and methods of public debt 

management. 

12. Do you think that privatization can always 

decentralise economic power ? Critically discuss. 
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